Practice 1:  Find the reaction path.
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Practice 2:  Do the following three searches on the compound. 

Exact (no Free Sites and Allow nothing)

Exact (all Free Sites selected and Allow nothing)

Exact (no Free Sites and all Allow selected)

How and Why do the result differ?
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Practice 3:  Do the following three searches on the compound. 

Substitution at both chain C

(no Free Sites and Allow nothing)

Substitution at both chain C

(all Free Sites selected and Allow nothing)

Substitution at both chain C

(no Free Sites and all Allow selected)

How and Why do the result differ?
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Practice 4:  How many structures do you retrieve by searching the following compound?
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Class Demo
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